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001 | U |EpigEE —r 787%1092 | 16 mow_ﬁ a+4 | 0.796 | 3.00 | 2. 388 www,wp 4+0 | 0,404 0.191] 0.595 .268| 3.25
002 |EBiHE —k 787%1092 | 16 %Mﬁ 4+4 | 0.796 | 3.00 | 2.388 wmmwwn 4+0 | 0.404| 0.191| 0.595 .268] 3.25
003 | 7.7 |[EpigE =+ 787%1092 | 16 %M% 4+4 [ 0.796 | 3.00 | 2.388 HM_%W 440 | 0.404| 0.191] 0.595 .268] 3.25
004 T |Epi#EE WE 787%1092 | 16 mowmm 4+4 1 0.796 | 3.00 | 2.388 %mmw 4+0 | 0.404| 0.191] 0.595 .268[ 3.25
005 T |EE#EE EE 787%1092 | 16 mowﬁ 4+4 [ 0.796 | 3.00 | 2.388 w%% 4+0 | 0.404| o.191] 0.595 .268[ 3.25
008 || 2" EFF#E A~ 787%1092 | 16 mcm.wmm 4+4 1 0.796 | 3.00 | 2.388 M%W 4+0 | 0.404| 0.191] 0.595 .268| 3.25
007 | |EBEEHE Lk 890%1240 | 16 mowﬁ 4+4 | 0.960 | 4.50 | 4.320 Hm_m%aw 4+0 | 0.506] 0.230] 0.736 .455| 5.50
008 HEi#E AL 890%1240 | 16 mowmm 4+4 10,960 | 4.50 | 4.320 %maw 4+0 | 0.506| 0.230] 0.736 455  5.50
009 EBEE Tk 890%1240 | 16 mowmm a+4 | 0.960 | 5.00 | 4.800 %_mmw 440 | 0.508] 0.230| 0.736 498  6.05
010 EH#E whE 890%1240 | 16 %Wmﬁ 4+4 | 0.960 | 7.50 | 7.200 Hﬁm@ﬂ% 4+0 | 0.554| 0.230] 0.784 .719]  8.70
011 = |EREE wSH T 890%1240 | 16 mcwﬁ 4+4 [ 0.960 | 7.50 | 7.200 %ﬁmw 4+0 | 0.554| 0.230] 0.784 .719] 8.70
AR [l e 805 H 1057

012 I8 i 5 ik —F : i :

EfSEREN —E 787%1092 | 16 Y 4+4 11.182 | 2.75 | 3.251 e 4+4 293 3.55
S RlEEEM (RRHERSR — 8077 Hh 1055%

013 . :

E 787%1092 | 16 I 4+4 1 1.182 [ 2.25 | 2.660 Py 4+4 .239]  2.90
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014 NMH w%m;m TR — MMN 787%1092 | 16 m_ﬂw_mma 4+4 [ 1.182 | 2.25 | 2.660 Mwmmw 4+4 0.239 2.90
015 .Mﬁ. ﬁwﬂ@g il i MM 7871092 | 16 mﬁ_ummm& 4+4 | 1.182 | 2.25 [ 2.660 M%W 4+ 0.239 2.%0
016 pwmm B SEREM — MM 7871092 | 16 mn_.mwma 4+ 1182 2.75 | 3.251 M%M 4+4 Lk
017 me wwmﬂa (e MM 7871092 | 16 mﬁ_umﬁwm_m 4+4 | 1.182 | 2.25 | 2.660 %_ww 4+4 a2
018 lmm W?%_,E% Ll MM 7871092 | 16 mmwmﬁ 4+4 | 1.182 | 2.25 | 2.660 M%W 4+4 200 e 90
019 \%n W%@% e MMM 787%1092 | 16 mmm_mﬁ% 4+4 | 1.182 | 2.25 | 2.660 _@%W 4+4 Lizaalpiez. 90
020 me_m Mw@mﬂﬁ%mﬁ LB W@M 7871092 | 16 mﬁ_umwm_w 4+4 | 1.182 | 2.75 | 3.251 M%M 4+4 022318 52
Ui b i L MMN 787%1002 | 16 S0 laea | 1182 | 2.75 | 3.251 g e 0.293|  3.55
022 mwm- %m%_mmm s S = MM 7871092 | 16 mwmmﬁ 4+4 | 1.182 | 2.75 | 3.251 Hmwm_mm 4+4 L2 D
023 H@M ﬂ%_m_% S MW 7871092 | 16 m%m& 4+4 | 1.182 | 2.75 | 3.251 H%%% 4+4 Roagall s 5
024 _mm_m %ﬁmﬁmﬂm B ) e MM 7871092 | 16 mwwmﬁ 4+4 | 1.182 | 2.75 | 3.251 w%wm 4+4 0.293f 3.55
025 EMN wwﬁ_m_ﬁ Lo O MM 787%1092 | 16 m%% 4+4 | 1.182 | 2.75 | 3.251 Hﬁwm_hw K |
026 uwwn. ﬁﬂ@% Rl MM 787%1002 | 16 mﬁ_wmm% 4+4 |1.182 [ 2.75 | 3.251 %_mﬁw 4+4 02033 5
027 dwm HMEE (REBHRERD mmw% 787%1092 | 16 WW&% 4+ |1.182 | 2.75 | 3.251 H%@m% 4+4 0.293) 3.55
028 ﬁ%ﬂ MW@NM%E% PEARR WEMM 7871092 | 16 wﬁ_wmmmﬁ 4+4 |1.182 | 2.75 | 3.251 H%%_W 4+4 2- 2981 2.8a
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029 MW Mqﬁ% (RERTIEA R .”m. Mw 787%1092 | 16 wﬁ_um&ﬁg 444 [1.182] 2.75 | 3.251 M%W 4+4 0.293] 3.%5
030 MM“. FERM RIASAERD MM 787%1092 | 16 mﬁ_wwmg 44 | 1.182 | 2.75 | 3.250 %mw 4+4 0.293 3.55
031 u_Mm e G 2 MMM 7871092 | 16 mﬁ%ﬁﬁ 4+4 | 1.182 | 2.75 | 3.251 wwmmw 4+4 0.293| 3.55
032 Mw %w@mm«mm_&m (AR eath MM_N 7871092 | 16 @Wﬂﬁg 4+4 |1.182 | 2.75 | 3.251 %mmw 4+4 0.293| 3.55
033 .\wwn. %m%m;m (N b i) WM 787%1092 | 16 mﬁ_wmm& 4+4 [1.182]2.75 [ 3.251 H%%mw 4+4 0.293] 3.55
034 Mﬁ .*w%_mmm LD Mm 787%1092 | 16 mmmwmﬁ 444 |1.182 | 2.75 | 3.251 wﬂ_w_mmw 4+4 0.293] 3.55
035 Mw. ﬂ%@% GLAE e ) Mm 787%1092 | 16 mﬁ_wmmmﬁ 144 | 1.182 | 2.75 | 3.251 %%M 4+4 0.293] 3.55
036 Mﬁ ﬁwwm&, (PN e MMM 890%1240 | 16 mmm_ﬂ\ﬁ% 4+44 | 1.420 | 3.25 [ 4.615 M%W 4+4 0.415/ 5.05
037 \_wmm ﬁ.mmm_mm (Pinrav/ = MM 890%1240 | 16 mwwma 4+44 | 1.420 | 3.25 | 4.615 wwmmw 4+4 0.415 .05
038 me_n. M%Wﬁ@% (REBIPIECH MM 890%1240 | 16 mmm_ﬂwm& 4+4 |1.420 | 3.75 | 5.325 wwww 4+4 0.479 5.80
039 L_Mm H%H&EE (FER%S/ER) MM 8901240 | 16 mwwma 4+4 | 1.420 | 3.75 | 5.325 %%mw 4+4 0.479 5.80
040 \Wmm wm.wm_@% (RIS iz Mm 890%1240 | 16 mﬁ_wﬂﬁ& 4+4 | 1.420 | 3.25 | 4.615 %%mw 1+4 0.415 5.05
041 xwmm ﬁﬁ@% (ERZ/ER) N MM 890%1240 | 16 mmmmmﬁ 444 [ 1420 3.25 | 4.615 %ww 4+4 0.415) 5.05
042 \Ww% ﬁ%mwﬁg (REBTPIBH MM 8901240 | 16 mwnmma 4+4 |1.420]3.75 | 5.325 wﬁ_www 4+4 0.479| 5.80
043 |/ Mm wmwmwmmnm% (/223 MMN 890%1240 | 16 mn_wm“ﬁ 4+4 1| 1420} 3.75. . 5:325 M%W e il U b
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044 M_Mm o [ g s A B E WEMN 8901240 | 16 mmmwma 4+4 | 1.420 | 4.75 | 6.745 %_m% 4+4 0.607| 7.35
045 LMW o [ G S A B R WEM 890%1240 | 16 m%ma 4+4 | 1.420 | .75 | 6.745 M%W 4+4 0.607[ 7.35
046 \M_n. R G s AR MM 890%1240 | 16 mwmma 4+44 | 1.420 | 4.75 | 6.745 H%%W 4+4 0.607| 7.35
047 |/ Wmm o [ 5 s dE A i J\ B MM 890%1240 | 16 mm.mm@ a+4 | 1.420 | 5 7. 100 %ﬂmmw 4+4 0.639] 7.75
048 Mw 55 e E M b Mﬁm 890%1240 | 16 mn_wwm% 4+4 | 1.420 | 4.75 | 6.745 M_Mm% 4+4 0.607| 7.35
049 www A R b MMM 890%1240 | 16 mﬂ_w_mﬁg 4+4 | 1.420 | 4.75 | 6.745 M%W 4+4 0.607| 7.35
050 Mwm HE CGEf) B E W&M 787%1092 | 16 %Wﬁ 4+4 | 0.796 7 5.572 wmmﬂmw 4+4 | 0.506| 0.191] 0.697 0.564| 6.85
051 \M_n. WHE (B L MMN 787%1092 | 16 mowﬁ w+4 [0.796| 7 | 5.572 Hﬂwﬂwﬂ a+4 | 0.506| 0.191| 0.697 0.564| 6.85
o | HEEE b S A R A Bk 807l 1575,
052 | 75 B (RAZED Hu] 890%1240 | 16 o 4+4 | 1.420 | 5.25 | 7.455 por 4+4 0.671] 8.15
o | AL BREE A | BB 80T Ha 15778
053 | &% e Wz 890%1240 | 16 N a+4 | 1.420 | 5.5 | 7.810 e 4+4 0.703| 8.50
. |PIEE A e e P EFk 80TEHE 15778
054 | & P> (R o 890%1240 | 16 ]t 4+4 | 1.420 | 5.25 | 7.455 e 4+4 0.671] 8.15
o | AE AN A EE A A | BER 80T H 1577
055 | & Py (RAZR ] 890%1240 | 16 e 4+4 | 1.420 | 5.5 | 7.810 o 4+4 0.703] 8.50
o |MEEREN (REAZUR) B | EBR 807 HE 1057
056 | & T g 89041240 | 16 4 4+4 | 1.420 | 3.75 | 5.325 P 4+4 0.479] 5.80
o |HEREM (FREESER o |2 807 Hh 10578
057 | & B - ] 8901240 | 16 5 4+4 | 1.420 | 3.75 | 5.325 o 4+4 0.479] 5.80
o |HHEEIEFEEM (BAZR) % | BB 807 10538
058 | & o 1 890+1240 | 16 4 4+4 | 1.420 | 4.75 | 6.745 s 444 0.607| 7.35
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059 | &— M%WWMEEA% “m MM 890%1240 | 16 mmm_ﬁwm_w 4+4 1.420 | 4.75 6. 745 M%W‘ 4+4 0. 607 735
060 | 75 ﬁ%@% (A2 s MM 890+1240 | 16 mmmwm@ a+4 | 1.420| 3.75 | 5.325 M%W 444 0.479| 5.40
o6 [ B WMW% (R BRI 2 MMM 8901240 | 16 WW&% a+4 | 1.420 | 3.75 | 5.325 wﬂ_%w 4+4 0.479| 5.40
062 | & WWW%EE (e A SR 2 Wﬁm 890%1240 | 16 mmmmmﬁ 4+4 1.420 | 4.75 6. 745 %%M“ 4+4 0. 607 7,35
o (HEEEEAEN (RHEAT B 80Tl 1057
063 | 151 15 MEE— ] 890%1240 | 16 5 4+4 1.420 | 4.75 6. 745 il 4+4 0. 607 7. 35
H | s R E R Sk ah | IR 807L 1053E
064 = B A HMEWEH&@HH H Hh &) 890%1240 | 16 B4 A+4 1.420 | 4.75 6. 745 P 4+4 0. 607 7.3h
Rk S ads | BR BOTEHME |, 10532
065 == RN ﬁ#ﬁ&,mm ] 890%1240 | 16 B4t 4+4 1.420 | 4.75 6. 745 P 4+4 0.607 7.35
B\ s S | B 805t 10557
066 e A ﬁm‘ﬁw&@w i8] 890%1240 | 16 &4 4+4 1.420 | 4.75 6. 745 Hilg 444 0. 607 7.35
s n R E R s [ ER . 80ZL i 1055¢
067 = BE (A HERr ] B[] 890%1240 | 16 B4t 444 1. 420 5 7.100 Hih% 4+4 0.639 Ti-l0
B i g Sk ks | ERR 805L 10557
068 - A ﬁwﬁ.ﬁ&.@mﬂ. s 890%1240 | 16 B4t 4+4 1. 420 5 7.100 o 4+4 0.639 T.05
B | s A SO S i | 23R 805zt 1053%
069 H= RN ﬁ#.ﬁ&@m B 890%1240 | 16 B4 4+4 1. 420 5 7.100 o 4+4 0.639 ThiTs
F b ITHEA E AR R (B | ERR 805E il 1053
070 o ) SERPEEL s 890%1240 | 16 4% 4+4 1. 420 3h 4,970 R 444 0. 447 5. 40
B ihEE M KSR R (RA | EXR 8051t 1053
071 o B PP it &) 890%1240 | 16 |4 4+4 1. 420 3.5 4. 970 sk 4+4 0. 447 5. 40
H (MhEmppEAAE. FEEx 2R 805z 10552
072 = s (RN JEEPEDES ] 890%1240 | 16 |4 4+4 1.420 | 3.5 4. 970 4R 4+4 0. 447 5. 40
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W | A AR Ry | R 80T . 105%%
073 = N T 8] 890%1240 | 16 |4 1+4 1.420 | 4.25 6. 035 P 4+4 0. 543 6. 60
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074 MW M%MWWWW%W@%H\ Mm 890%1240 | 16 m%\m& 4+4 | 1.420 | 4.25 [ 6.035 M_ﬂm_w 4+4 0.543| 6.60
075 MW WMM@%%W%&MWWMM mm_wm 890%1240 | 16 w%ma 4+4 | 1.420 | 4.25 [ 6.035 wﬁ_%% 4+4 0.543| 6.60
076 wm MM@MMMWW%%% (Fe MM 8901240 | 16 WMMG a4 [ 1.420| 3.5 | 4.970 wwm_w 44 0.447| 5.40
077 Mm M%MMM Wwwmm CHC MM 890%1240 | 16 mﬁ_wwm% 4+4 | 1420 | 3.5 | 4.970 M_wm% A+4 0.447| 5.40
| o7 Mm MM&%%M%&MMWMW imwm 890+1240 | 16 m%ﬁ% 4+4 | 1.420 | 3.5 | 4.970 M_,ﬂwﬁﬂ 444 0.447| 5.40
079 Mm %MMWWMMWWM%& MWN 890%1240 | 16 wm%ﬁ% 444 | 1.420 | 4.25 [ 6.035 wﬂ_u%mw 444 0.543| 6.60
080 Mm M%MMMWWW%W CHC MM 890%1240 | 16 mmmm\ﬁ% 444 | 1.420 | 4.25 | 6.035 wwm%.. 4+4 0.543| 6.60
081 wm MMMW%%M%@MM_WW& W&M 890%1240 | 16 mmm_mmﬁ 444 | 1.420 | 4.25 | 6.035 m%w 4+4 0.543| 6.60
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FS | F% wﬁ. kg | ER Bk |2l 228k | EXC | MK [ ER | | BE[MEBRRC L)
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001 | =54 (ERFE =F% E#k| 80 | 16 | 60 | 1+1 | 1.089 3 3. 267 157 | 4+0 1 1.028 | 0.387 4.70
002 | DU4EZR |FEfEURE DYES BErR| 890 | 16 | 60 [ 1+1 | 1.089 3 3. 267 157 | 4+0 1 1.028 | 0.387 4.70
003 | F4FZR |[FEBFE RER HeR| 890 | 16 | 60 | 1+1 1. 089 3 3. 267 157 | 440 1 1.028 0. 387 4.70
004 | ANER |EBERE SES Erk| 890 | 16 | 60 | 1+1 | 1.089 3 3. 267 157 | 4+0 1 1.028 | ‘0387 4,70
005 | L& (TEFE tFEL EBR| 890 | 16 | 60 [ 1+1 1. 089 3 3. 267 157 | 4+0 1 1.028 | 0,387 4.70
006 | J\4FEZh |(FfURE NEXR Erk| 890 | 16 | 60 | 1+1 1. 089 3 3. 267 157 | 4+0 1 1,028 | 0,387 4.70
007 | &R |ERKE LFESR Erk| 890 | 16 | 60 | 1+1 1. 089 3 3. 267 157 | 4+0 1 1.028 | 0:387 4.70
008 —L  |FEBEX —FEL LM | EEk| 890 | 32 [ 60 | 1+1 1. 089 5 5. 445 128 | 4+0 1 0.652 | 0.549 6. 65
009 =L |FEPEX —#H LM | BER| 890 | 32 | 60 | 1+1 1. 089 5 | 55| 5.990 128 | 4+0 1 0. 652 0. 598 7.95
010 =t |FBEX ZFEL LM | EBk)| 890 | 32 | 60 | 1+1 1. 089 5 | 5.5 | 5.990 128 | 4+0 1 0. 652 0. 598 .25
011 Wl [FEBE DUSHEM | #2k| 89 | 32 | 60 | 1+1 1. 089 5 | 5.5 | 5.990 128 | 4+0 1 0.652 | 0.598 7.25
012 fb  |FEPEX HELLM | EBR| 8% | 32 | 60 | 1+l 1. 089 5 | 5.5 | 5.990 128 | 4+0 i 0.652 | 0.598 7.25
013 AL (RS NEZ LM | BBk 890 | 32 | 60 [ 1+1 1. 089 5.8 5.5 ||| 5.990 128 | 4+0 1 0.652 | 0.598 7.85
014 | 5% |FEHEX ¥— L E#k| 890 | 32 | 60 [ 1+1 1. 089 6 6. 534 128 | 4+0 1 0.652 | 0.647 7.85
015 | \#& |FESE F1= L EmR| 890 | 32| 60 | 111 1. 089 6 6. 534 128 | 440 1 0.652 | 0.647 7.85
016 | JLEF#% |FFAEC =M EER| 890 | 32 | 60 | 1+1 1. 089 6 6. 534 128 | 4+0 1 0. 652 0. 647 7.85
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